@@WI\J@GT

media selutions;

c onnect

technical support

gconnect

GWSW Ersatzteilliste fiir ChamSys Produkte

Product Order Code Description
Metalwork 301-001-01 Mini Wing Base
(PC Wings) 301-002-02 Mini Wing Top with Overlay

301-049-01 PC Wing Base

301-050-02 PC Wing Top with Overlay
301-052-01 Maxi Wing Base

301-053-02 Maxi Wing Top with Overlay
301-056-01 Extra Wing Base

301-057-02 Extra Wing Top with Overlay

Metalwork 301-018-03 Pro Back Panel Metalwork
(Console and Playback Wings) 301-024 Expert Back Panel Metalwork
301-021-01 Main Front Upper Black
301-022-04 Main Front Lower Blue
301-022-05 Main Front Lower Red
301-023-04 Expert Main Front Upper Blue
301-023-05 Expert Main Front Upper Red
301-030-05 Pro Main Front Upper Bezel Blue
301-030-06 Pro Main Front Upper Bezel Red
301-008-04 Playback Wing/Execute Wing Front Lower Blue
301-008-05 Playback Wing/Execute Wing Front Lower Red
301-009-04 Playback Wing Front Upper Blue
301-009-05 Playback Wing Front Upper Red
301-028-04 Playback Wing Front Upper Blue
301-028-05 Playback Wing Front Upper Red
301-012-01 Console Wing Section Rear Panel
301-017-02 Stand-alone Wing Rear Panel (with cut-outs)

Metalwork 301-039-02 Interface Enclosure Shell
(External Interfaces) 301-040-01 Interface Enclosure Base

301-045 Dual DMX End Plate (USB End)

301-046 Dual DMX End Plate (DMX End)

301-043 MIDI/Timecode Interface End Plate (USB/Timecode End)

301-044 MIDI/Timecode Interface End Plate (MIDI End)

301-041 Audio Interface End Plate (USB End)

301-042 Audio Interface End Plate (Audio End)

301-065-02 Large Interface Enclosure Shell

301-066-01 Four Port Ethernet Interface Enclosure Base

301-067 Four Port Ethernet Interface End Plate (RJ45 End)

301-068 Four Port Ethernet Interface End Plate (DMX End)
Metalwork 301-006 34mm Black Encoder Knob (Low-Res Encoders)
(Encoder Knobs) 301-005 40mm Black Encoder Knob (Hi-Res Encoders)

301-032 Small Silver Fluted Encoder Knob (Low-Res Pro Encoders)

301-033 Large Silver Fluted Encoder Knob (Hi-Red Pro Encoders)



- P connect
gconnect =S

@connect

technical support

GWS% Ersatzteilliste fiir ChamSys Produkte

Product Order Code Description

Metalwork 301-004 Console Battery Clamp

(Miscellaneous Items) 301-007 Console Fader Cover (Base Plate)
301-034 Rear Panel Fibre Optic Cover
301-010 Rear Panel 60mm Fan Bracket
301-060 Rear Panel Large 80mm Fan Bracket

Fixings, Bolts and Screws 302-001 Fixing Bolt M3x6mm Pozi Pan Steel BZP
302-002 Fixing Bolt M4x10mm Pozi Pan Steel BZP
302-003 Fixing Washer M3 Internal Shakeproof Steel BZP
302-004 Fixing Bolt M3x6mm Pozi Pan Steel Black
302-005 Fixing Bolt M3x10mm Pozi Pan Steel BZP
302-006 Fixing Bolt M3x16mm Pozi Pan Steel BZP
302-007 Fixing Bolt M4x12mm Pozi Pan Steel BZP
302-008 Fixing Bolt M4x6mm Pozi Pan Steel Black
302-009 Fixing Bolt M4x10mm Pozi Pan Steel Black
302-010 Fixing Nut M4 Nyloc Steel BZP
302-011 Fixing Screw 2.9x6.5mm Pozi Pan Steel Black
302-012 Fixing Screw 2.9x13mm Pozi Pan Steel Black
302-013 Fixing Nut M3 Nyloc Steel BZP
302-014 Fixing Bolt M3x10mm Pozi Pan Steel Black
302-015 Fixing Washer M4 Fibre Red
302-016 Fixing Bolt M3x10mm Hex Skt Csk HTS Black
302-023 Fixing Grub Screw M4x6mm Hex Key SetScrew Steel Black
302-024 Fixing Washer M4 Internal Shakeproof Steel BZP
302-027 Fixing Screw No.6x13mm Self-Tapping Wood Steel Zinc
302-029 Fixing Nut M3 Full Steel BZP
302-030 Fixing Washer M3 Crinkle S/Steel Unplated
302-034 Fixing Bolt M3x10mm Pozi Csk Steel BZP
302-035 Fixing Bolt M4x8mm Hex Skt Button Steel A2
302-036 Fixing Spacer M4x10mm M-F Steel BZP
302-037 Fixing Bolt M4x16 Pozi Pan Steel BZP
302-038 Fixing Bolt M4x20 Pozi Pan Steel BZP
302-040 Fixing Bolt M3x8mm Pozi Pan Steel BZP
302-041 Fixing Bolt M3x6mm Pozi Csk Steel BZP
302-042 Fixing Spacer M3x10mm M-F Steel BZP
302-043 Fixing Spacer M3x16mm M-F Steel BZP
302-044-01 Fixing Washer TO-220 Insulating Kit
302-046 Fixing Bolt M2.5x8mm Superdriv Pan Steel Zinc
302-047 Fixing Bolt M2.5x6mm Pozi Pan Steel BZP
302-048 Fixing Screw 2.9x8mm Pozi Pan Steel Black
302-051 Fixing Washer M3 Plain Steel Steel
302-057 Fixing Bolt M3x10mm Slt Csk Steel BZP
302-058 Fixing Nut M4 Full Steel BXP
302-059 Fixing Screw No6x3/4 Superdriv Pan Steel Zinc
302-060 Fixing Screw No6x1/2 Pozi Pan Steel Black
302-064 TAPTITE® screw M2.5 x8mm

302-065 Fixing Bolt M3x10mm Slt Pan Steel BZP



fconnect

media selutions

gconnect

@connect

technical support

GWSW Ersatzteilliste fiir ChamSys Produkte

Product Order Code Description

Console and Wing End Cheeks 303-003 Left Hand End Cheek
303-004 Right Hand End Cheek

Key Caps 303-005 Key Cap 'Blank' Non-Windowed
303-006 Key Cap 'Blank' Windowed

303-005-01 Key Cap 'Arrow' Non-Windowed
303-005-02 Key Cap "' Non-Windowed
303-005-03 Key Cap 'THRU' Non-Windowed
303-005-04 Key Cap 'PAGE LEFT' Non-Windowed
303-005-05 Key Cap 'PAGE RIGHT' Non-Windowed
303-005-06 Key Cap 'HOME' Non-Windowed
303-005-07 Key Cap 'END' Non-Windowed
303-005-08 Key Cap 'PAGE UP' Non-Windowed
303-005-09 Key Cap 'PAGE DOWN' Non-Windowed
303-005-10 Key Cap '0' Non-Windowed
303-005-11 Key Cap '1' Non-Windowed
303-005-12 Key Cap '2' Non-Windowed
303-005-13 Key Cap '3' Non-Windowed
303-005-14 Key Cap '4' Non-Windowed
303-005-15 Key Cap '5' Non-Windowed
303-005-16 Key Cap '6' Non-Windowed
303-005-17 Key Cap '7' Non-Windowed
303-005-18 Key Cap '8' Non-Windowed
303-005-19 Key Cap '9' Non-Windowed
303-005-20 Key Cap /' Non-Windowed
303-005-21 Key Cap "*' Non-Windowed
303-005-22 Key Cap '-' Non-Windowed
303-005-23 Key Cap '+' Non-Windowed
303-005-24 Key Cap 'FULL' Non-Windowed
303-005-25 Key Cap '@ Non-Windowed
303-008-01 Key Cap 'ENTER' Non-Windowed
303-005-27 Key Cap 'DBO' Non-Windowed
303-005-28 Key Cap 'MEDIA' Non-Windowed
303-005-29 Key Cap 'EXEC' Non-Windowed
303-005-30 Key Cap 'PROG' Non-Windowed
303-005-31 Key Cap 'OUT' Non-Windowed
303-005-32 Key Cap 'SETUP' Non-Windowed
303-005-33 Key Cap 'PATCH' Non-Windowed
303-005-34 Key Cap '"MACRO' Non-Windowed
303-005-35 Key Cap 'HELP' Non-Windowed
303-005-36 Key Cap 'PAGE' Non-Windowed
303-005-37 Key Cap 'CUE STACK' Non-Windowed
303-005-38 Key Cap 'CUE' Non-Windowed
303-005-39 Key Cap 'PLAYBACK' Non-Windowed
303-005-40 Key Cap 'STACK STORE' Non-Windowed
303-005-41 Key Cap 'CUE STORE' Non-Windowed



fconnect

media selutions

gconnect

@connect

technical support

GWSW Ersatzteilliste fiir ChamSys Produkte

Product Order Code Description

Key Caps 303-005-42 Key Cap 'GROUP' Non-Windowed
303-005-43 Key Cap 'INT" Non-Windowed
303-005-44 Key Cap 'FX' Non-Windowed
303-005-45 Key Cap 'POS' Non-Windowed
303-005-46 Key Cap 'COLOR' Non-Windowed
303-005-47 Key Cap 'BEAM' Non-Windowed
303-005-48 Key Cap 'NEXT HEAD' Non-Windowed
303-005-49 Key Cap 'PREV HEAD' Non-Windowed
303-005-50 Key Cap 'MIN' Non-Windowed
303-005-51 Key Cap 'MAX' Non-Windowed
303-005-52 Key Cap 'CLOSE' Non-Windowed
303-005-53 Key Cap 'NEXT' Non-Windowed
303-005-54 Key Cap 'EXT' Non-Windowed
303-005-55 Key Cap 'SIZE' Non-Windowed
303-005-57 Key Cap 'TIME LINE' Non-Windowed
303-006-01 Key Cap 'Play' Windowed
303-006-02 Key Cap 'Stop' Windowed
303-006-03 Key Cap 'Select' Windowed
303-006-04 Key Cap 'NEXT PAGE' Windowed
303-006-05 Key Cap 'PREV PAGE' Windowed
303-006-06 Key Cap '>>' Windowed
303-006-07 Key Cap '<<' Windowed
303-006-08 Key Cap 'ADD SWAP' Windowed
303-006-09 Key Cap 'REL' Windowed
303-006-10 Key Cap 'SEL' Windowed
303-006-11 Key Cap 'CLEAR' Windowed
303-006-12 Key Cap 'SHIFT' Windowed
303-006-13 Key Cap 'BLIND' Windowed
303-006-14 Key Cap 'BACKSPACE' Windowed
303-006-15 Key Cap 'UNDO' Windowed
303-006-16 Key Cap 'REMOVE' Windowed
303-006-17 Key Cap 'MOVE' Windowed
303-006-18 Key Cap 'COPY' Windowed
303-006-19 Key Cap 'SET' Windowed
303-006-20 Key Cap 'INC' Windowed
303-006-21 Key Cap 'UPDATE' Windowed
303-006-22 Key Cap 'RECORD' Windowed
303-006-23 Key Cap 'LOCATE' Windowed
303-006-24 Key Cap 'ODD EVEN' Windowed
303-006-25 Key Cap 'HIGHLIGHT' Windowed
303-006-26 Key Cap 'SINGLE' Windowed
303-006-27 Key Cap 'FAN' Windowed
303-006-28 Key Cap 'ALL' Windowed
303-006-29 Key Cap 'MENU' Windowed
303-035 7.6mm Frosted Cap for Illuminated Pro Console Switch
303-036 9.8mm Frosted Cap for Illuminated Pro Console Switch



@@WI\J@GT

media selutions;

c onnect

technical support

gconnect

GWSW Ersatzteilliste fiir ChamSys Produkte

Product Order Code Description
Arm Rests 303-014 Playback Wing/Execute Wing Arm Rest
303-015 MQ100 Arm Rest
303-016 MQ200 Arm Rest
303-017 MQ300 Arm Rest
Overlays 303-010 MQ50 Overlay
303-011 Mini Wing Overlay
303-018 PC Wing Overlay
303-021 Maxi Wing Overlay
303-027 Extra Wing Overlay
Rubber Feet 303-030 Rubber Feet for Consoles and PC Wings (Pack 4)
303-022 Small Rubber Feet for Mini Wings and Interfaces (Single)
Miscellaneous Plastic Items 303-012 Plastic Bezel for Expert Consoles
303-019 Large Fader Knob for Consoles and Wings (Not Mini Wing)
303-025 Playback/Execute Wing LCD Window
303-028 Large Acetal Plastic Knob for Expert Consoles
303-029 Small Acetal Plastic Knob for Expert Consoles
303-031 Mini Wing Plastic Case and Foam Inserts
303-032 Small Fader Knob for Mini Wings
303-033 Extra Wing LCD Window
Connectors 304-003 USB Type A-B Reversible Chassis Mount
304-011 Powercon Socket 20Amp
304-014 Powercon Plug 20Amp
Switches 307-001 Pushbutton Key Switch for Consoles and Wings
307-002 Large Flash Switch for Consoles and Wings (Not Mini Wing)
307-003 Small Flash Switch for Mini Wings
307-005 Small White Illuminated Switch for Pro Consoles
307-006 Large Blue llluminated Switch for Pro Consoles
307-007 Small Yellow llluminated Switch for Pro Consoles
307-008 Large Yellow Illluminated Switch for Pro Consoles
307-009 Yellow llluminated Switch for Maxi Wings
(specify if unilluminated is required)
307-010 Blue llluminated Switch for Maxi Wings
(specify if unilluminated is required)
307-011 White llluminated Switch for Maxi Wings
(specify if unilluminated is required)
307-012 Rocker Switch for MagicQ Consoles
307-013 Tact Switch for Expert Consoles
307-024 Rotary BCD Switch for Four Port Ethernet Interfaces

307-035 4 way SPST DIP Switch



gconnect

@@WI\J@GT

media selutions;

c onnect

technical support

GWSW Ersatzteilliste fiir ChamSys Produkte

Product

Faders

PCB Assemblies

Sub-Assemblies

Order Code

308-001-01
308-002

313-001
313-004
313-006
313-007
313-008
313-009
313-010
313-011
313-012
313-013
313-014
313-015
313-016
313-017
313-018-01
313-018-02
313-020
313-021
313-024
313-025
313-026
313-027
313-028
313-030
313-038

314-002
314-003
410-006
410-006-GW
410-006-BB
410-007-01
410-007-02
410-017
410-078

Description

Fader for MagicQ Consoles and Wings (Not Mini Wing)
Fader for MagicQ Mini Wings

Transition Card for Old Style (660MHz and 1GHz) Console Processors
Pro Console Ethernet Card PCB Assembly

Dual DMX Interface PCB Assembly

MIDI/Timecode Interface PCB Assembly

Audio Interface PCB Assembly

Pro Console Front Panel (No LCD or key caps)

Mini Wing PCB Assembly

Transition Card for Gene-8310 Style Console Processors
Extra Wing PCB Assembly

Playback Wing PCB Assembly

PC Wing PCB Assembly

Execute Wing PCB Assembly

Ethernet to 3 DMX Interface PCB Assembly

Pro Rear Panel DC Card PCB Assembly with Fan and Tray
Maxi Wing PCB Assembly

MQ50 Front Panel PCB Assembly

Expert Console Front Panel (No LCD or key caps)

Maxi Wing Quad DMX Output PCB Assembly

CH315H Video Daughter Board PCB Assembly
Gene-8310 Processor Card for MagicQ Consoles
Old-Style Expert Rear Panel DC Card PCB Assembly
Old-Style Expert Rear Panel Connector Card PCB Assembly
Processor Card for MagicQ MQ50 Consoles

PCI Graphics Card for Pro 2010 Consoles

Four Port Ethernet Interface PCB Assembly

Pro Rear Panel Assembly

Pro Front Panel (With LCD and key caps)

LCD Display for MagicQ Pro

LCD Display for MagicQ Console with Green/White Touch Panel
LCD Display for MagicQ Console with Brown/Black Touch Panel
Touch Panel for MagicQ Console — Green cable white connector
Touch Panel for MagicQ Console — Brown/black cable and connector
GreenLCD Display for Playback, Execute and Extra Wings

Blue LCD Display for Playback and Execute Wings



@@WI\J@GT

media selutions;

c onnect

technical support

gconnect

GWSW Ersatzteilliste fiir ChamSys Produkte

Product Order Code Description
Cable Assemblies 315-001 CPU Card PSU Cable
315-002 AU Optronics LCD Cable
315-003 Single Colour Working Light Connector for Consoles
315-004 Cover Plate Earth Cable
315-006 Front Panel Cable
315-007 Fused Battery Cable
315-008 Maxi Wing/MQ50 Working Light Connector
315-009 Internal Cat5e Patch Network Cable
315-010 Ethernet Board PSU Cable
315-011 DC Card PSU Cable
315-012 Wing PSU Cable
315-014 Pro Rear USB
315-015 Console Mains Input Connector Cable Assembly
315-016 Console Mains PSU Cable
315-017 44way ATA Hard Drive Cable (for old style processors)
315-018 Stand Alone Wing PSU Cable Assembly
315-019 Stand Alone Wing USB Cable
315-020 Stand Alone Wing Mains Cable
315-021 LCD Inverter Cable
315-025 Rear Panel Chassis Earth Cable
315-027 Internal USB Cable for Consoles A-B
315-028 Flat Connector Board Cable
315-030 Wing Signal Cable for Pro Consoles
315-032 Internal Wing Mains Cable for MQ200 and MQ300 Pro Consoles
15-033 Internal Mains Splitter Cable
315-034 USB Cable A-B Blue

315-035-01 Euro Powercon Cable (Type E/F CEE 7/7 Style)
315-035-02 UK Powercon Cable (Type G BS 1363 Style)
315-035-03 US Powercon Cable (Type B NEMA 5-15 Style)

315-037 Single Colour Working Light Connector for Playback/Execute Wings

315-040 Crossover Ethercon Cable

315-041 UK IEC Cable (Type G BS 1363 Style)

315-042 Euro IEC Cable (Type E/F CEE 7/7 Style)

315-044 US IEC Cable (Type B NEMA 5-15 Style)

315-045 China/Australia IEC Cable (Type | AS/NZS 3112 Style)

315-046 China/Australia Powercon Cable (Type | AS/NZS 3112 Style)

315-048 MiniPCl Secondary VGA Cable

315-051 Innolux LCD Inverter Cable

315-053 Dual Colour Working Light Connector for Consoles

315-056 Dual Colour Working Light Connector for Playback/Execute Wings
Fans 316-001 60mm 12Vdc Rear Panel Fan for MagicQ Consoles

316-002 40mm Fan for MagicQ Console (Including MQ50) Processors

316-004 80mm 12Vdc Rear Panel Fan for MagicQ Consoles



@connect  Com=
-

@connect

technical support

GWSW Ersatzteilliste fiir ChamSys Produkte

Product Order Code Description
Accessories 317-001 Console Mini Keyboard
317-002 PS2 Optical Scroll Mouse
317-003 Dust Cover for MQ100 Consoles
317-004 Dust Cover for MQ200 Consoles
317-005 Dust Cover for MQ300 Consoles
317-006 Dust Cover for Playback and Execute Wings
317-008 Quick Start Manual

0300-0010 MagicQ Console LED Lamp (Single Colour)
0300-0042 MagicQ Console LED Lamp (Dual Colour)

LEDs 405-001 Green Horizontal Mount LED
405-002 Red Horizontal Mount LED
405-003 Yellow Horizontal Mount LED
405-004 Bicolour Red/Green 3mm LED
405-005 Blue 3mm LED
405-006 Yellow 3mm LED
Fuses 409-011 16A Glass Slowblow 20x5mm Battery Fuse
409-012 Screwfit Inline Fuse Holder for Battery Lead
Relays 412-002 SPST-NO Mains Latching Relay for Console Rear Panels
Power Supplies 415-001 13.5V 150W PSU for MagicQ Consoles
415-004 5V 4A 12V 1A PSU for Stand Alone Wings
415-002-01 Maxi Wing/Extra Wing External PSU 12V DC 2A Locking Connector
415-003 PC Wing External PSU 12V DC 2A Jack Connector
415-002 Magic Wand External PSU 12V DC 2A Jack Connector
Batteries 416-001 13.5V Lead Acid Battery for MagicQ Consoles
Encoders 417-001 Low Resolution (A-F) Encoders
417-002 Hi-Resolution (X and Y) Encoders
Hard Drives 418-001-01 Hard Drive for MagicQ 6 Universe Expert Consoles

418-001-02 Hard Drive for MagicQ 12 Universe Expert Consoles
418-001-03 Hard Drive for MagicQ Pro 2008/2009 Consoles
418-002 Hard Drive for MagicQ MQ50 Console

418-004 Solid State Drive for MagicQ Pro 2010 Consoles



